Numbers below correspond to the sections of

John Wells' full proposal (PDF document):

"Computer-coding the IPA: a proposed extension of SAMPA"
Available at:
http://www.phon.ucl.ac.uk/home/sampa/x-sampa.htm

Extras, not in Wells' proposal:
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3. vowels
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Proposal has U+ 029A for 3\ instead of its mirror image U+ 025E
But proposal describes it as "open-mid central-rounded vowel"

This really should be U+ 025E

cf. Unicode specification:

U+ 025E - lower-mid central rounded vowel

U+ 029A - lower-mid front rounded vowel, non-IPA alternative for
preferred U+ 0153 oe-ligature

See also the vowels on the well-known IPA chart
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Different from Wells: _M_H_L "rising-falling"
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___all tones
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<TTT>
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